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This publication contains the five essay questions from the February 2022 California Bar
Examination and two selected answers for each question.

The selected answers are not to be considered “model” or perfect answers. The answers
were assigned high grades and were written by applicants who passed the examination
after the First Read. They are reproduced as submitted by the applicant, except that minor
corrections in spelling and punctuation were made for ease in reading. These answers
were written by actual applicants under time constraints without access to outside
resources. As such, they do not always correctly identify or respond to all issues raised
by the question, and they may contain some extraneous or incorrect information. The
answers are published here with the consent of the authors.

Question Number Subject

1. Criminal Law and Procedure

2. Community Property

3. Torts / Remedies

4. Evidence / Professional Responsibility

5. Business Associations / Remedies



ESSAY QUESTION INSTRUCTIONS

Your answer should demonstrate your ability to analyze the facts in the question, to tell
the difference between material facts and immaterial facts, and to discern the points of
law and fact upon which the case turns. Your answer should show that you know and
understand the pertinent principles and theories of law, their qualifications and
limitations, and their relationships to each other.

Your answer should evidence your ability to apply the law to the given facts and to
reason in a logical, lawyer-like manner from the premises you adopt to a sound
conclusion. Do not merely show that you remember legal principles. Instead, try to
demonstrate your proficiency in using and applying them.

If your answer contains only a statement of your conclusions, you will receive little or no
credit. State fully the reasons that support your conclusions and discuss all points
thoroughly.

Your answer should be complete, but you should not volunteer information or discuss
legal doctrines that are not pertinent to the solution of the problem.

Unless a question expressly asks you to use California law, you should answer
according to legal theories and principles of general application.



QUESTION 1

Jim and Fred armed themselves with handguns and drove to a store on Avon Street. They
both went into the store, drew their guns, and demanded that Salma, an employee, give
them the store’s money. After Salma handed Jim the money, he nervously dropped his
gun. The gun discharged when it hit the floor, and the bullet hit and killed Chris, a store
customer. Salma then got a shotgun from under the counter and shot Fred, killing him.
Jim picked up his gun, ran out of the store, and drove back to his apartment.

Later that evening, Jim saw Salma while walking down Park Street. Thinking that he could
eliminate her as a witness, Jim shot at Salma with his gun, but the bullet missed her. Jim
then drove away in his car.

A few minutes later, Police Officer Bakari saw Jim driving down the street. Officer Bakari,
who had no knowledge of the events at the store or on Park Street, pulled Jim over
because Jim looked nervous. When Jim got out of his car, Officer Bakari noticed a bulge
under his shirt. Officer Bakari then patted Jim down and found Jim’s gun. Officer Bakari
arrested Jim for possession of a concealed firearm and seized the gun.

1. With what crime(s) could Jim reasonably be charged regarding the events at the
store? Discuss.

2. With what crime(s) could Jim reasonably be charged regarding the incident on
Park Street? Discuss.

3. Under the Fourth Amendment to the United States Constitution, can Jim
successfully move to suppress Jim’s gun from being introduced into evidence at
trial? Discuss.



QUESTION 1: SELECTED ANSWER A

1.Jim's crimes at the store

Conspiracy

A conspiracy is an agreement between two or more people to commit a crime. A
conspiracy requires 1) an intent to enter into an agreement, 2) an intent to agree, and 3)
an intent to carry out the target offense. Most modern jurisdiction also require an overt
act which sets the conspiracy in motion. A conspiracy punishes the agreement.
However, a conspirator will be liable for not only the target offense, but for all
substantive crimes that are the natural and foreseeable consequences of the target
offense (Pinkerton rule).

Here, Jim(J) will likely be found guilty of a conspiracy with Fred(F) to rob the store. 1) J
and F "Armed themselves" with guns and drove to the store. This act of supplying a
dangerous weapon, coupled with driving to the store is circumstantial evidence of J and
F's intent to enter into an agreement to rob the store. Thus, they intended to enter into
an agreement to commit a crime. 2) They both armed themselves and endeavored on
this venture together. This further indicates that they intended to agree with one
another to fulfill their intent. 3) Finally, the fact that they grabbed weapons and drove to
the store evidences an intent to commit the underlying offense of robbery (there is no
other logical reason for driving to s tore with likely illegal weapons other than for the
purpose of committing some crime). Further, the act of driving to the store will amount to
an overt act which set this conspiracy in motion.

Therefore, J will likely be charged with conspiracy and will be culpable not only for the

underlying offense, but for all crimes which were the reasonable and foreseeable



consequences of committing a robbery.

Assault

Assault is either 1) a failed battery (a non-consensual offensive touching), or 2) an intent
to cause imminent apprehension in another of an imminent battery.

In this case, J will also likely be guilty of assault because by drawing his gun and
pointing it at Salma (S) and demanding that she give him the money, he intended to put
S is apprehension that if she did not comply, she might be shot (which would certainly
amount to an offensive, non-consensual touching).

Therefore, J committed an assault.

Larceny

Larceny is the 1) trespassory (without consent), 2) taking, and 3) carrying away (the
slightest movement is sufficient) of 4) the personal property or 5) another with 6) the
intent to permanently deprive that person of their property.

Here, J also committed a larceny because 1) S did not give voluntary consent when she
gave J the money (rather, she was under threat of possible death if she did not),
therefore making it trespassory, 2) he took the money when S handed it to him, 3) J
carried it away when he "ran out of the store," 4) the property was cash (and therefore
personal property), which 5) belonged to the store, not Jim, and 6) J intended to
permanently deprive the store of this money because he obtained it by force and ran
away. Clearly, he had no intention of returning it.

Therefore, J committed a larceny.

Robbery

Robbery is essentially an assault plus larceny. It is the 1) taking of 2) the personal



property 3) from a person's presence, 4) by force of threat of force, 5) with the intent to
permanently deprive that person of their property.

Here, J committed an assault and a larceny and thus also committed a robbery. He 1)
took 2) the cash 3) from S, who was in charge of safeguarding it, 4) by threat of force by
drawing his handgun and making S believe that she may be shot if she did not comply,
and 5) intended to permanently deprive the store of its property because he had no
intention of returning it.

Therefore, J also committed a robbery.

Burglary

At common law, burglary was the 1) breaking and 2) entering of 3) the dwelling house
4) of another 5) in the nighttime 6) with the intent to commit a felony therein. However,
many jurisdictions have eliminated the breaking and nighttime requirements and
expanded "dwelling house" to include a multitude of enclosed structures.

Here, J and F did go into the store with the intent to commit a crime. However, there
was no "breaking" because they went during store hours and thus had permission to be
on the premises.

Thus, there was no burglary.

Murder (Chris)

Common Law Murder

At common law, murder was the killing of one human being by another human being
with malice aforethought. The intent to kill--malice--can take several forms: 1) the intent
to kill (express malice), 2) killing with reckless indifference to human life (depraved heart

murder), 3) intent to cause great bodily injury (GBI), or 4) felony murder.



1. Express Malice

Express malice requires the intent to Kkill.

Here, J "nervously dropped his gun" and it accidentally discharged. Therefore, J did not
intend to kill Chris.

2. Depraved Heart

Depraved heart murder is a killing with a reckless indifference to an unjustifiably high
risk to human life.

Here, J did not kill Chris with indifference to a high risk to human life because he
dropped his gun. He did not know the gun was discharge and it was completely
accidental. Therefore, he probably cannot be convicted of depraved heart murder.

3. Intent to Cause GBI

Malice can be inferred from the intent to cause GBI.

Again, J accidentally dropped his gun and did not intent to harm Chris and thus did not
intent to commit GBI. This type of malice thus does not apply.

4. Felony Murder

Under the felony murder doctrine, malice is implied from the intent to kill the underlying
felony. However, many jurisdictions have adopted the Redline theory, which states that

a co-felon cannot be quilty of felony murder for the killing of another co-felon

during the commission of the felony by a third party.

Here, J intended to commit a robbery, as discussed above. In all jurisdictions, a robbery
is a felony. Therefore, J can be found guilty of felony murder for any killing that occurs
during the commission of the robbery. Chris was a store customer, not a co-felon, so

the Redline theory would not bar J from being convicted.



Therefore, J can be found guilty of felony murder of Chris.

First Degree Murder

First degree murder is statutory in nature and most jurisdictions have held that it
encompasses 1) premeditated and deliberate murder or 2) felony murder during certain
inherently dangerous enumerated felonies (including burglary, rape, arson, robbery, and
kidnapping).

1. Premeditation and deliberation

As stated above, the killing of Chris was accidental, so it was not premeditated or
deliberate.

2. Felony Murder

Here, the killing occurred during the commission of a robbery--a first degree felony
murder offense.

Therefore, J will likely be found guilty of first-degree murder.

Second Degree Murder

Second degree murder includes all murders not in the first degree.
Here, J will not be guilty of second-degree murder because he can be found guilty of
first-degree murder.

Murder (Fred)

See rule above.

1. Express Malice

Here, S shot F. Therefore, J did not have intent to kill F.
2. Depraved Heart

Again, because S is the one show shot F, J would not have killed F with a depraved



heart.

3. Intent to Cause GBI

J did not intent to cause F GBI because he is not the one who shot him.

4. Felony Murder

Here, the state will argue that J is guilty of felony murder to F because it was a killing
during the commission of a felony. However, if this jurisdiction has adopted the Redline
theory, then J cannot be found guilty of murder of F because a third party---S--killed a
co-felon.

Therefore, assuming the jurisdiction has adopted the Redline theory, J will not be guilty
of murder of F.

First Degree Murder

See rule above.

1. Premeditation and deliberation

This was not a premeditated or deliberate murder because J did not plan to kill F.

2. Felony Murder

This was a killing during the commission of an inherently dangerous felony. However,
assuming this jurisdiction has adopted the Redline theory, J cannot be found guilty of
murder of F.

Second Degree Murder

See rule above.
This is inapplicable because J did not intent to kill F.

2.Jim's crimes on Park Street

Attempted Murder (Salma)




Attempt is a specific intent crime which requires 1) the specific intent to commit the
underlying offense and 2) a substantial step toward the commission of that offense (the
substantial step element requires that the crime come dangerous close to commission).
Here, J will likely be found guilty of attempted murder of S because 1) he thought he
could "eliminate her as a witness" and drew his gun at her, thereby evidencing his intent
to kill S so that she could not testify against him. 2) There was a substantial step toward
the crime because J actually "shot" and fired his gun at S.

Therefore, J will be guilty of attempted murder of S.

Assault

See rule above.

J will also be guilty of assault because he attempted to shoot S (which would be a
harmful or offensive touching, i.e., a batter), but he missed her.

Therefore, this was a failed battery and thus an assault.

3. 4th Amendment Claim

4th Amendment

The 4th Amendment protects against unreasonable searches and seizures. A search
without a warrant is per se unreasonable unless there is an exception to the warrant

requirement.

Here, J was subject to a stop by the police when he was pulled over and this he was
searched without a warrant. Therefore, this stop and seizure is per se unreasonable,
and thus a violation of J's 4th Amendment rights, unless there is an exception.

Government Conduct

The 4th Amendment only protects individuals from governmental conduct--it does not



govern purely private behavior.
Here, J was pulled over by a police officer--a government employee. Therefore, this
element is met.

Search/Reasonable Expectation of Privacy

A search is a governmental intrusion into an area where a person has a subjective
expectation of privacy that society is willing to regard as reasonable, or a search into a
constitutionally protected area. In order to assert a reasonable expectation of privacy,
and thus have standing to make a 4th Amendment claim, the person must have had an
ownership or possessory interest in the place searched or item seized.

Here, J has standing to object to the search because he was pulled over in his car
which he presumably owned, and thus had a reasonable expectation of privacy in his
vehicle (although the courts have held that there is a diminished expectation of privacy
in one's vehicle, there is nonetheless some expectation of privacy). Furthermore, J's
person was searched during a pat-down and the police officer took an item of personal
property from him.

Thus, J has standing.

Warrantless Search

As stated above, warrantless searches and seizures are per se unreasonable without a
warrant expectation.

Here, the stop and seizure were without a warrant and is per se unreasonable unless
there is an exception.

Vehicle Stops: Reasonable Suspicion

A police officer may pull over a vehicle if they have reasonable suspicion, supported by



articulable facts, that criminal activity is afoot. Whether an officer has reasonable
suspicion will be determined based on the totality of the circumstances, although the
courts have held that it requires more than a mere hunch.

Here, the officer stopped J because he "looked nervous.” The officer had no knowledge
of any of the preceding events and thus no basis to believe that criminal activity was
afoot. A person "looking nervous" is not enough for reasonable suspicion. There must
be facts which support the officer's basis for concluding that some criminal activity is
happening.

In this case, J's mere "nervousness" likely did not amount to reasonable suspicion such
that the stop was unreasonable and thus a violation of J's 4th Amendment rights.
However, assuming the stop was not unreasonable, the state must further prove that
the officer had grounds to search J.

Warrant Exception: Terry Stop and Frisk

A stop and frisk, or Terry stop, permits an officer to stop a person whenever they have
reasonable suspicion, based on articulable facts, that criminal activity is afoot. If the
officer also believes that the person is armed and dangerous, then the officer can
conduct a pat-down of their outer clothing in order to search for weapons.

Here, if the officer had reasonable suspicion for the stop, then the frisk was likely a
permissible Terry frisk because the officer noticed a bulge under J's search. Based on
his experience, the officer likely had justifiable grounds for believing that "bulge" could
be a weapon, thereby supporting his basis for patting J down.

So long as the court finds that the stop was supported by reasonable suspicion, then

the pat-down and seizure of the gun will also be permissible.



Exclusionary Rule/Fruit of the Poisonous Tree

The exclusionary rule is a judge-made doctrine that states that any evidence obtained in
violation of a person's 4th, 5th, or 6th Amendment rights is inadmissible (subject to a
few exceptions not applicable here). Under the fruit of the poisonous tree doctrine, all
secondary evidence obtained as a result of an unlawful search will also be excluded.
Here, it is more than likely that the stop of J when the officer pulled him over was
unreasonable because it was not supported by reasonable suspicion. Therefore, any
evidence obtained as a result of the unlawful search, such as the gun, will also be
inadmissible as fruit of the poisonous tree.

Conclusion

Because J was stopped in violation of his 4th Amendment rights, J can successfully

move to suppress the gun from being introduced at trial.



QUESTION 1: SELECTED ANSWER B

() Events at the Store

Jim could be charged with first- or second-degree murder depending on how a
jurisdiction codifies those crimes. He can also be charged with robbery and conspiracy
to commit robbery.

Robbery

J committed the crime of robbery. A robbery is the taking of property of another with
force. Here, J took property of another, i.e., the cash of the store from the store whose
property it was. J also used force to take that property. Specifically, he brandished his
firearm, threatening the use of force if Salma the store employee did not comply. Thus,
J committed the offense of robbery.

Murder

J committed the crime of murder. He could be found guilty of felony murder (which could
be first- or second-degree murder depending on the jurisdiction) or involuntary
manslaughter.

A. First degree murder is generally codified as one of two things (a) premeditated,
calculated murder that occurs in a calm, dispassionate manner or (b) felony murder.

(a) Premeditated murder. Here, Jim (J) and Fred (F) armed themselves with handguns
and drove to a store on Avon Street. They both went into the store with their guns drawn
and demanded that the store employee Salma (S) give them money. It does not appear
that J and F's intent was to murder anyone, nor did they premeditate committing a
murder; rather, they were only interested in obtaining the money from the store. J only

killed C when he nervously dropped his gun, and the gun fired a bullet. And F was killed



only when S shot him. Thus, J cannot be convicted of first-degree premeditated murder
as he did not premeditate either of those deaths.

(b) Felony murder. Some jurisdictions codify felony murders as first-degree murder. If
the state where J and F committed this offense is one of those states, then J could be
found guilty of first-degree murder. Felony murder is found when a murder occurs
during the commission of certain violent felonies, including burglary, kidnapping,
robbery, assault, and rape. This is because the commission of these felonies is
dangerous on their own, and it is foreseeable that a death could occur in their
commission. To find felony murder, it must be first established that one of these
underlying crimes occurred. Here, as discussed above, J intended to commit a robbery
and did do so. Thus, the deaths that occurred can be considered under the felony
murder rule.

Here, two deaths occurred--those of C and F--which we will discuss in turn. First, as to
C's death, C was killed when J nervously dropped his gun and when S was handing J
the money he demanded. C's death was not really in furtherance of the commission of
the crime--J was already getting the money handed to him and probably would have left
after that. And J and F did not point the gun at C or ask C for his money or except C to
hand them over the store's money. Nonetheless, it was a reasonably foreseeable
consequence of the robbery, given how J and F chose to commit the robbery. J and F
both brandished firearms at S. Because they have it pointed at someone and clearly
there is no safety on, it is reasonably foreseeable that they would use the firearms in the
commission of the offense or even that a firearm may accidentally discharge, harming

someone. Thus, J could be found guilty of C's death under the felony murder rule.



As to F's death, there are two theories as to whether J would be liable for it. Under the
majority theory, a defendant is not liable of a co-conspirator's death by a third party
(such as a victim of the offense, here S). This theory believes that F's death is not
foreseeable, since a third party took independent action and caused the death.
However, under the minority theory, such an action is foreseeable since the defendant
was already involved in such a dangerous offense and any resulting death is
foreseeable. Thus, under the minority theory, J would be held liable, but J would not be
held liable under the majority view. Accordingly, depending on whether the jurisdiction
follows the majority or minority rule, J could also be found liable for F's death.

B. Second degree murder is the codification of common law murder. Common law
murder has four variations: (a) a malicious intent to murder another (b) a malicious
intent to cause substantial bodily harm (c) a disregard for human life, and (d) murder
while committing a dangerous offense (i.e., felony murder).

(a) malicious intent to murder another. It does not appear that J had any intent to
murder C. J dropped his firearm and it accidentally discharged. The firearm was not
even pointed towards C when he did have it brandished. Thus, J would not be found
guilty of second-degree murder under this theory.

(b) malicious intent to cause substantial bodily harm. Again, it does not appear that J
had any intent to murder C. J dropped his firearm and it accidentally discharged. The
firearm was not even pointed towards C when he did have it brandished. Thus, J would
not be found guilty of second-degree murder under this theory.

(c) disregard for human life. Again, it does not appear that J had any intent to murder C.

J dropped his firearm and it accidentally discharged. The firearm was not even pointed



towards C when he did have it brandished. Thus, J would not be found guilty of second-
degree murder under this theory.

(d) felony murder. As noted above, J could be found guilty of felony murder of C. And
depending on the rules of the jurisdiction, he could also be found guilty of murder of F
under this theory.

C. Voluntary Manslaughter. Voluntary manslaughter is the codification of murders
committed while the defendant is still under the stress of an event. These murders are
often described as heat of the passion murders. The prototypical example is when a
husband walks in on his cheating spouse and immediately murders the spouse and/or
spouse's lover. Here, the murder of F and C did not occur while J was under the stress
of any event--the robbery was a pre-planned event between J and F. Thus, J could not
be charged with voluntary manslaughter.

D. Involuntary Manslaughter. Involuntary manslaughter can be thought of as criminal
negligence. This charge is generally used to charge drunk drivers when they murder
someone. Here, it is possible that J could be convicted of involuntary manslaughter.
Here, J, in holding the firearm, had a duty to take the precautions that someone holding
a firearm should, i.e., hold it steady, don't drop it, keep the safety on until you are ready
to discharge. J did none of those things. He did not have the safety on, he did not hold
the firearm steadily, thus breaching his duty of care when he dropped it and it
discharged. And his dropping of the firearm caused the death of C--but for him dropping
it, C would still be alive. Thus, J could be charged under this theory as well for the death

of C.



Conspiracy

Also, J could be charged with a conspiracy. A conspiracy is an agreement between 2 or
more persons for a criminal purpose to act in furtherance of that criminal purpose. The
modern jurisprudence also requires the commission of an overt act in furtherance of a
conspiracy. Under the modern jurisprudence, the crime is committed once an overt act
has occurred, and the defendants can no longer withdraw from the conspiracy at that
point. Here, although there is no written agreement between the J and F (and a written
agreement is not required but would help if you're prosecuting these types of crimes), J
and F are clearly in agreement that they were going to rob the store. J and F, prepared
with guns, armed themselves with firearms and both drew their guns at the store clerk
and demanded money. Here, their actions clearly demonstrate they were acting in
concert with one another towards to the same agreed upon goal--the commission of a
robbery. They have also clearly committed an overt act, in furtherance of their criminal
purpose--they drew their guns and demanded money from the store employee S. Upon
completion of the overt act, the crime of conspiracy is completed, and neither could
withdraw from the conspiracy.

2. Incident at Park Street.

Here, J could be charged for attempt 1st degree or 2nd degree murder. To be convicted
of an attempt, a defendant must have the intent to commit a specific offense and take a
substantial step in furtherance of that crime. The substantial step need not be criminal in
nature, but it must be in furtherance of the offense (i.e., it takes defendant one step
closer) and cannot simply be planning or preparation.

Here, J had the intent to commit 1st or 2nd degree murder. Specifically, he had the



intent to commit a premeditated murder (1st degree) or intent to maliciously murder
another or cause substantial bodily injury (2nd degree). As to the premeditated murder,
premeditation does not need to be a long-drawn out plan. Premeditation can occur
instantly so long as defendant has sufficient time to intend to murder before attempting
to do so. Here, upon seeing S, J believed that he should murder her to eliminate her as
a witness to his robbery and other offenses. J had enough time to come to a decision to
murder S in a cool, dispassionate matter. Alternatively, if J did not form the requisite
intent and did not have time to premeditate, he could alternatively be charged with
murder in the 2nd degree. As discussed above, murder in the second degree includes a
malicious intent to kill or to cause substantial bodily harm. J clearly had both of those
intents as he hoped to eliminate S as a witness by killing her. Thus, alternatively, if he
did not have time to come to a cool dispassionate decision to murder S while he was
driving past her, he did have the requisite intent to commit a second-degree murder.

In addition, Jim took a substantial step towards his offense--he actually fired his gun at
S hoping to kill her. Even though the bullet missed her and the substantive, underlying
crime (murder) was not completed, J completed the crime of attempt when he took this
substantial step.

Accordingly, J can be found guilty of attempt murder.

3. Suppression of the Gun

The Fourth Amendment protects against unreasonable searches and seizures. To
trigger the protections of the Fourth Amendment, the search/seizure must have been
done by a government actor. Here, the search and seizure were done by Officer Bakari

(Off B), who works for some type of government entity (either local, state, or federal



police department). And the search that was done was of Jim's person, thus Jim has
standing to challenge the seizure of the firearm.

An unreasonable search/seizure is one that is done where an individual has a
reasonable expectation of privacy. Those areas include an individual's person and their
home. An individual has a lessor privacy interest in their vehicle.

Here, Off B pulled over J because J looked nervous. Off J had no knowledge of the
events at the store or on Park Street. Off B just stopped J because J looked nervous.
An officer can stop an individual for a reasonable period based on reasonable suspicion
that that individual committed a crime. The officer must be able to point to specific
articulable facts justifying the reasonable suspicion/stop. Notably, a stop can be
pretextual (see Whren), but there still must be reasonable suspicion for the stop. Here,
at a suppression hearing, Off B would testify simply that J looked nervous. That is not
sufficient to justify the stop, because nervousness, on its own, does not suggest any
evidence of criminal activity. It is totally possible that J is simply a nervous driver.
Accordingly, the stop was in violation of the 4th Amendment. Any evidence that is found
in violation of an illegal stop must be suppressed in accordance with the fruit of the
poisonous tree doctrine. And accordingly, the firearm would be suppressed. (Also, note
that there are no facts that would suggest that the firearm would be found in the normal
course in the investigation, negating any exception such as inevitable discovery or
collateral source doctrine).

Assuming arguendo that the stop was legal, Off B then did a pat down search of J. It
should be first noted that an officer may ask an individual to exit their car during a lawful

search. Searches generally need to be done in accordance with a search warrant;



however, there are exceptions to the warrant requirement, including but not limited to a
search incident to arrest, exigent circumstances, Terry search, automobile exception,
and administrative searches. Here, J was not under arrest at this time, there were no
exigent circumstances justifying the search, and there was no administrative search. Off
B could try to justify his search under the automobile exception. An individual has a
lessor privacy interest in his/her vehicle because vehicles are so regulated. However, to
search a vehicle after a lawful traffic stop, an officer must have probable cause that he
will find evidence of an offense. (This most commonly occurs when the officer, after a
stop, smells drug use or sees drugs/alcohol in plain view). Because Off B did not know
of the previous crimes and was only stopping J because he looked nervous, Off B did
not have PC that a crime had occurred and could not justify his search. Off B then could
alternative try to justify his search as a Terry frisk. A Terry frisk is not a search for
evidence of a crime, but a safety pat down to ensure that an individual is not dangerous.
TO justify a Terry frisk, the officer must have reasonable suspicion that a defendant is
dangerous or trying to flee. Here, Off B would testify that J looked nervous and that he
had a visible bulge. There are no facts to suggest that the bulge was in the shape of a
firearm or other weapon, however. Also, J looked nervous prior to the stop. Thus, a
likely result is that the Terry frisk will be deemed a search without reasonable suspicion
and thus found in violation of the 4th Amendment. Thus, the search of J's person was in
violation of the 4th Amendment as no exceptions to the warrant requirement apply.
Accordingly, because the stop and the search were both in violation of the 4th

Amendment, the firearm will likely be suppressed.



QUESTION 2

Harry had premarital savings of $10,000 in a bank account when he married Winona in
California in 2015. After the wedding, Harry started working at a new job and deposited
his $3,000 salary check into the account. Shortly afterward, he paid $2,000 for rent and
$2,000 for living expenses with checks drawn on the account. He then bought $1,000 in
Acme stock in his own name with another check drawn on the account. The Acme stock
increased in value over time.

During the marriage, Winona purchased disability insurance out of her salary. She later
became disabled and could no longer work. As a result, she became entitled to monthly
disability insurance payments, which will continue until she reaches the age of 65.
Thereafter, Harry and Winona decided to live separately, but to go to counseling with the
hope of reconciling. After Harry moved out of the family home, he used his earnings to
gamble at a local casino, winning a large amount of money with which he opened an
investment account in his own name. Harry did not tell Winona about his winnings or
investment account because she did not approve of gambling.
Subsequently, after a period of counseling, Harry and Winona concluded that they would
not reconcile and Harry filed for dissolution. A few days later, Harry took out a loan to pay
for a sailboat, hoping that sailing would relieve the stress of the divorce.
What are Harry’s and Winona'’s rights and liabilities regarding:

1. The Acme stock? Discuss.

2. Winona’s post-separation disability insurance payments? Discuss.

3. The investment account? Discuss.

4. The loan for the sailboat? Discuss.

Answer according to California law.



QUESTION 2: SELECTED ANSWER A

INTRODUCTION

California is a community property state. The marital community begins upon the
formation of a valid marriage and terminates upon permanent separation, divorce, or
death of a spouse. During marriage, all earnings and income of both spouses, and all
property acquired by either spouse during the marriage with community funds, are part
of the marital community and are considered to be community property ("CP"). All
income and property owned by either spouse from before marriage, as well as earnings
through inheritance, gift, or bequest during marriage, are separate property ("SP") of the
recipient spouse. All debts and liabilities of both spouses from before and during the
marriage are generally presumed to be CP. All debts and liabilities of each spouse after
permanent separation or dissolution are generally SP.

1. ACME STOCK

Presumption--CP

All property acquired by either spouse during the existence of a valid marriage is
generally presumed to be CP. In this case, Harry acquired the Acme stock after the
formation of the marital community. Thus, the stock will generally be presumed to be
CP, although Harry will try to rebut this presumption.

Action: Titling Stock in Harry's Name Alone/Transmutation

If property is acquired as community property, the action of titling the property in one
spouse's name alone will not suffice to change the nature of the property. Since 1984, in
order to change the nature of acquired property from community property to separate

property, there must be an express writing by the adversely affected spouse assenting



to the change in nature of the property.

In this case, Harry may attempt to argue that the Acme stock is his separate property
because it is titled in his name alone. However, that alone is not sufficient to change the
nature of the property. Moreover, the facts do not indicate that there is any writing by
Winona acknowledging the nature of the change in status of the stock, or that she even
knew about the existence of the stock. As such, Harry's titling the property in his name
will not suffice to rebut the presumption of it being community property, without more.
Source: Harry's Bank Account

Harry will argue that the stock is his separate property because the purchase was
conducted via a bank account that contains his premarital savings of $10,000. Savings
from before marriage are Harry's SP. However, the facts also indicate that following the
marriage, Harry deposited $3,000 of his salary into the account. All wages and salaries
earned by both spouses during the marriage are for the benefit of the community and
are community property. Thus, because Harry commingled community property and
separate property in his bank account, he may attempt to rebut the presumption of
community property through tracing.

Tracing

When separate property and community property are commingled, a spouse may
establish that the source of funds was separate property through tracing.

Direct Tracing

A spouse may trace the source of funds to separate property by directly linking a
deposit of separate property to a purchase, so long as the spouse had intent to

purchase the property as separate property.



In this case, Harry had deposited $3,000 of CP into the account before making the
$1,000 purchase of stock. All of the other deposits seem to have been made prior to the
marriage. Thus, Harry will be unable to directly trace the source of the funds to SP.
Moreover, the facts are unclear as to whether Harry intended the stock to be SP when
he purchased it. He placed the stock in his own name, but without more, he probably
cannot establish intent to keep the stock as SP.

Exhaustion

Alternatively, a spouse may establish that any CP funds in a commingled account were
exhausted prior to the purchase of purported SP.

In this case, Harry deposited $3,000 of CP into the bank account. He then paid $2,000
for rent and $2,000 for living expenses. Rent and living expenses of spouses during the
marriage are CP. When a commingled account is used to pay for CP liabilities, it is
presumed that CP funds are withdrawn first, followed by the spouse's SP. Because the
total of CP costs withdrawn from the account are $4,000, which exceeds the CP deposit
of $3,000, Harry will be able to establish that the CP funds in his bank account were
exhausted prior to the purchase of the stock, and that the source of the funds can be
adequately traced to Harry's pre-marriage SP savings.

Distribution

The Acme stock is Harry's SP, because the CP funds in the account were exhausted
before he purchased the stock, and he will be able to establish the source of the funds
for the stock as his SP savings. As such, the stock, along with the increase in value that

occurred during the existence of the marriage, will be assigned to Harry upon divorce.



2. WINONA'S POST-SEPARATION DISABILITY PAYMENTS

Disability Insurance--Presumed CP

The disability insurance was purchased by W during the existence of the marriage.
Moreover, the source of the payment of the insurance policy was W's salary, which is
CP. Thus, the insurance policy qualifies as CP.

Disability Payments

When a spouse receives disability or other payments, the court will first look to whether
the payments are intended to compensate for past work or to replace future earnings. In
this case, W purchased the insurance policy during the marriage with CP, as discussed
above. The facts indicate that the disability payments will continue until W is 65 years
old. Thus, it appears that the disability payments are meant to replace future earnings,
rather than compensate for past earnings. As such, all payments received by W prior to
permanent separation are CP, as they acted as a replacement for W's earnings during
the existence of the marriage.

When did separation occur?

Since 2017, permanent separation occurs in California when one spouse indicates
intent to permanently end the marriage, and that spouse’s behavior is consistent with
that intent. Living separately is not required but will be considered when examining the
intent and behavior of the spouses.

In this case, the facts indicate that H and W decided to live separately but continued to
go to counseling in the hopes of reconciling. After a period of counseling, H filed for
dissolution after deciding that they could not reconcile. Even though the spouses were

living separately, they were attempting to reconcile. As such, it cannot be said that



either spouse had intent to permanently end the marriage at that point. However, at a
later point, W and H decided that they could not reconcile, and H then filed for
dissolution. Because H's filing for dissolution is consistent with his intent to permanently
end the marriage, the court will determine that permanent separation occurred at that
point. Prior to H filing for dissolution, permanent separation had not occurred, even
though the spouses were living separately.

Disability Payments Post-Separation

When disability payments that replace future earnings are received by a spouse after
permanent separation, those payments are that spouse's SP. In this case, W will
continue receiving disability payments until she is 65. The payments she receives after
dissolution will replace earnings that she would have acquired through labor. All
payments received after H filed for dissolution will be considered to be W's SP.
Distribution

All of W's disability payments prior to H filing for dissolution are CP and will be assigned
to the marital estate. All payments received after H filed for dissolution are W's SP and
will be assigned to her.

3. INVESTMENT ACCOUNT

Presumption=CP

As discussed above, the marital community did not end, and permanent separation did
not occur, until H filed for dissolution. H may argue that the parties were separated and
that the account is his SP. However, the purchase of the investment account occurred
during the existence of the marriage because the spouses were attempting to reconcile

at that point. As such, it is presumed to be CP.



Action: Titling Account in Own Name/Transmutation

See rule above. The fact that H titled the investment account in his name alone is not by
itself sufficient to change the nature of the account. Moreover, the facts do not indicate
that there is any writing by W acknowledging the change in character of the property, or
that she knew about the account at all. Rather, the facts indicate that H did not tell W
about the account because she did not approve of gambling. Thus, H will need to
provide more facts in order to establish a change in the nature of the account.

Breach of Fiduciary Duty

Spouses are considered to be fiduciaries of each other and owe each other the highest
duties of good faith and loyalty. When a spouse breaches his fiduciary duty, a court may
take that into account when distributing community property and may assign the non-
breaching spouse a higher share of the CP or take other action consistent with
remedying the breach.

In this case, the facts indicate that H won a large amount of money gambling at a
casino. Because W does not approve of gambling, H declined to tell her about the
winnings and instead opened an investment account in his own name. The court will
likely find that this action constituted a breach of H's fiduciary duty to W. H had a duty to
keep W apprised of his financial status, and not to take actions in order to disadvantage
W. When H opened the account without telling W, he was presumably attempting to
hide earnings from W in order to benefit himself in a possible future divorce. This is a
clear breach of fiduciary duty.

Distribution

Because the investment account was purchased during the existence of the marriage



and there are no facts indicating that a valid transmutation occurred, the account is CP
and will be divided equally between the spouses upon divorce. However, because H
breached his fiduciary duty to W by refusing to tell her about the account and attempting
to hide its existence from her, the court may determine that W is entitled to a larger
share of CP.

4. LOAN FOR THE SAILBOAT

Debts

All debts and liabilities of both spouses before and during the existence of the marriage
are CP. All debts and liabilities by spouses after divorce or permanent separation are
that spouse's SP. An exception exists if the debt or liability is for necessaries of life,
such as food or medical expenses.

End of Marital Community

See discussion above. Although H and W started living separately prior to H filing for
dissolution, the court will determine that the marital community did not end until H filed
for dissolution, because prior to that point the spouses were attempting to reconcile.
Action: Acquiring the Loan After Filing for Dissolution

Debts acquired by both spouses after permanent separation or dissolution are SP of the
debtor spouse. In this case, the facts indicate that H took out the sailboat loan a few
days after filing for divorce. Even though the marriage had not been formally dissolved
at that point, the fact that H and W had decided that they could not reconcile, and that H
had filed for dissolution indicates that permanent separation had occurred. Thus, the

loan will be assigned to Harry as his SP.



Liability of H's SP for Loan

Because the loan is H's SP, his SP will be liable for payment of the loan.

Liability of CP for Loan

If a loan is acquired by a spouse following permanent separation, the loan will be the
debtor spouse's SP, and the CP will not be liable for the debt. An exception exists for
necessaries of life, for which CP may be liable even following permanent separation. H
may attempt to argue that the sailboat loan qualifies as a necessary, because it helped
him to cope with the stress of the divorce. However, the court will not accept that
argument, as the loan was not necessary to sustain H's health or life.

Liability of W's SP for Loan

If a debt acquired after separation may be satisfied from CP, the non-debtor spouse's
SP may also be reached if all other funds are exhausted. The non-debtor spouse may
protect their SP from liability by keeping their money in a bank account titled in their
name alone and to which the debtor spouse does not have access.

In this case, as discussed above, the CP is not liable for H's sailboat loan, because it
was acquired after separation and is not a necessary of life. As such, W's SP will also
be protected from liability for the loan.

Distribution

The loan is H's SP and will be satisfied from his SP funds.



QUESTION 2: SELECTED ANSWER B

Community Property Essay

California is a community property state. This means that the marital economic
community begins at marriage and ends at divorce, or permanent separation, or the
death of a spouse. All earnings made during a valid marriage are considered community
property (CP), and all things purchased with those earnings are also considered CP.
Property acquired before marriage or after divorce or permanent separation is
presumed separate property (SP). Additionally, all property acquired during marriage by
either gift or inheritance are considered SP.

Valid Marriage

In California, a valid marriage requires (1) consent, (2) capacity, and (3) legal
formalities. Here, the facts simply state that Harry (H) and Winona (W) were married in
California in 2015. Therefore, it is presumed they had a valid marriage that began in
2015.

Permanent Separation

Permanent separation ends the marital community. This occurs when one spouse (1)
communicates to the other spouse a desire to end the marital community, and (2)
conduct in conformity with that desire. Permanent physical separation is no longer
required. Here, at some point, H and W decided to separate but continued to go to
marital counseling before there was a final dissolution of the marriage. Although there
was a physical separation between H and W when H moved out of the family home, the
fact that both sought marriage counseling indicates that they wanted to work things out

and there was no set intent on ending the marital community with conduct in conformity



with that intent. Therefore, although H and W physically separated, it is unlikely that the
marital community ended until there was a final dissolution.
1. Acme Stock

CP Presumption

The general presumption is that all property acquired during a valid marriage is CP. This
presumption can be rebutted by a preponderance of the evidence that the property
acquired was traced from a separate property source or an agreement between the
spouses to keep certain property separate.

Here, the Acme stock was purchased after H and W were married. Therefore, the
general presumption is that it is CP.

Earnings

A spouse's labor, skill, and effort are considered community assets and therefore, the
earnings of a spouse during a valid marriage are CP, absent agreement between
spouses to contrary. Here, Acme stock was purchased from funds in bank account that
had H's earnings deposited into it, and those earnings were acquired during marriage.
Therefore, account that purchased Acme stock had CP earnings in it. But H's account
also had premarital savings of $10,000 which are H's SP. H will likely want to claim
Acme stock as his own SP and must therefore rebut CP presumption by tracing the
purchase of stocks to his SP.

Tracing to SP

CP presumption can be rebutted if spouse demonstrates that funds used to make
purchase came from SP source. If this evidence is proffered, then spouse is entitled to

refund of SP contribution but not any increase in the value of the property acquired with



SP funds.

Here, H will want to argue that Acme stock is his SP. Since it was acquired during
marriage, H must overcome CP presumption. Since H purchased stock from
commingled account that had both CP and SP in it, H can only establish Acme stock as
his SP if he can show direct tracing or exhaustion method.

Direct Tracing

Direct tracing requires that the spouse show that the funds used from commingled
account to purchase property came from a SP deposit, and CP funds were not used. It
is not enough for the spouse to show that the account had more SP funds than CP
funds at time of purchase. Generally, a spouse can prove direct tracing by keeping
conspicuous records of the deposits and credits of the account and their
characterizations (CP or SP). With this information, the spouse must then show that he
had the intent to make purchase with SP funds and the proof of the SP deposits and
credits that demonstrate such SP funds were in fact used to make the purchase.

Here, H had $10,000 SP funds in account and H also deposited CP earnings into same
account. Facts are unclear as to whether H intended purchase of Acme stock to come
from SP funds in account, and the facts are also silent as to H's accounting practices
that would help corroborate that needed intent. For these reasons, it is unlikely that H
can demonstrate direct tracing.

Exhaustion Method

The exhaustion method of tracing requires that the proponent spouse show that the
commingled account was depleted of all CP funds at the time of the purchase, and the

only remaining funds in the account to make the purchase were SP funds. It is



presumed that family expenses are paid with CP funds first, and then SP funds.

Here, account had $10,000 SP, then H deposited $3,000 salary check (CP), and
thereafter withdrew $2000 for rent and $2,000 for living expenses. Since H and W lived
in the family home prior to separation, the rent payment and living expenses payments
are considered family expenses to be paid from CP funds first. Since CP funds in
account only totaled $3,000 and the family expenses totaled $4,000, there was not
enough CP in account to pay off those family expenses. Therefore, $1,000 of H's SP
funds were used to pay the rest. After this payment, the account only had $9,000 left,
which is considered H's SP. Thereafter, H made purchase of Acme stock. Since CP
funds depleted from account at time of purchase, exhaustion method can be properly
used here to help H prove that Acme stock was purchased with SP funds and therefore
H is entitled to reimbursement for his SP contribution to the Acme purchase.

Title

A spouse placing title to property in his or her name alone does not change the
character of the property without more, such as a valid transmutation. Therefore, the
fact that H bought stock in his name alone is not determinative on this issue.
Conclusion

H can trace Acme purchase to SP funds using exhaustion method. Therefore, H is
entitled to his $1,000 SP contribution for the purchase of that